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2000
93. (I) Antarctica appears to be warming faster thananywhere else on the planet. (II) The ice is melting, and the winters are markedly warmer.(III) Indeed, industrial pollution is a major threat to the wild life. (IV) Grass is now beginning to push up through what was frozen wasteland just a few years ago. (V) Yet, this warming in Antarctica is causing problems for the penguins, the natives of the continent.

A) I
 B) II
 C) III
 D) IV
 E) V
94. (I) There is nothing unusual about a single language dying. (II) Communities have come and gone throughout history, and with them their languages. (III) The Hittite language, for example, died out when its civilisation disappeared. (IV) Small communities in isolated areas can easily be wiped out by earthquakes, hurricanes and other disasters. (V) Yet, in comparison with what happened in the past, what is happening today is extraordinary, for the cultural and linguistic diversity of the world is everywhere under threat.

A) I
 B) II
 C) III
 D) IV
 E) V
95. (I) Operations that were not even dreamed of fifty years ago are now being carried out successfully. (II) Due to the spread of diseases, hospitals are getting more and more crowded. (III) For instance, the heart can be safely opened and its valves repaired. (IV) Blocked blood vessels can be cleaned out. (V) The whole stomach, even, can be removed without causing serious problems.

A) I
 B) II
 C) III
 D) IV
 E) V
96. (I) Homer designed his tale in the form of a tree. (II) The principal plot forms the trunk of the tree, and many stories branch off from the trunk. (III) Some of these stories are only the portrayal of principal characters. (IV) Homer is supposed to have written both The Odyssey and The Iliad. (V) The others describe various incidents related to the main theme.

A) I
 B) II
 C) III
 D) IV
 E) V
97. (I) In sixteenth-century England, the theatre was a very popular form of entertainment. (II) In many ways it was different from the theatre of our time. (III) Shakespeare, who was the leading dramatist of the time, is still regarded as one of the world’s greatest. (IV) For one thing, the theatre had no roof, and plays were acted with no setting. (V) Performances were given in the afternoons, and had to be cancelled if the weather was bad. 

A) I
 B) II
 C) III
 D) IV
 E) V
98. (I) The year 1666 was the year of the great fire of London. (II) There is very little agreement among historians as regards the population of London at the time. (III) The houses were all made of wood, so they burned easily and there was a wind to fan the flames. (IV) So, despite all efforts to put it out, the fire raged for four days. (V) At the end, thousands of the Londoners were made homeless.

A) I
 B) II
 C) III
 D) IV
 E) V
99. (I) Dr. Johnson will always be remembered for producing the first serious dictionary of the English language. (II) In 1747 he published the Plan of his Dictionary. (III) The age in which he lived is reflected in his writings. (IV) According to this plan, he hoped to complete the work in three years. (V) Actually, however, it took him seven years to compile his dictionary.

A) I
 B) II
 C) III
 D) IV
 E) V
100. (I) Myths were originally created as entertaining stories with a serious purpose. (II) The bestknown of the mythologies in the world is the Greek mythology. (III) They have two main aims. (IV) One is to explain the nature of the universe. (V) The other is to instruct members of the community in the attitudes and behaviour necessary to function successfully.

A) I
 B) II
 C) III
 D) IV
 E) V 
2001

93. (I) After the conquest of Istanbul in 1453 many splendid mosques were built in that city. (II) The inner walls of these mosques were mostly decorated with tiles made in Iznik. (III) Decorative tile work was invented in the Near East as a protection for walls of sun-dried brick. (IV) These were painted in rich colours on a white ground. (V) The patterns were floral and arabesque, similar to those used on the pottery also made there.

A) I
 B) II
 C) III
 D) IV
 E) V
94. (I) Most students probably regard mathematics as the most difficult course they take. (II) This is largely because they think it is difficult or have been told that it is. (III) In fact, it really isn’t difficult at all. (IV) In order to learn mathematics one simply needs to concentrate and practise the materials. (V) The mathematics classes of good modern schools are very different from the classes of thirty or forty years ago.

A) I
 B) II
 C) III
 D) IV
 E) V
95. (I) Thermal pollution often occurs when factories use water from rivers and lakes to cool their machinery. (II) In the process, of course, the water is heated. (III) This heated water is then returned to the environment. (IV) New and better methods of preventing thermal pollution must be found. (V) But heated water holds less dissolved oxygen than cool water, so plants and animals that use this water may die from oxygen starvation.

A) I
 B) II
 C) III
 D) IV
 E) V
96. (I) The work of oceanographers is extremely varied. (II) They study fish and marine life in general. (III) They also explore ocean bottoms to learn how they were formed and what they are made of. (IV) Further, they study currents and tides and the effects of ocean pollution. (V) Actually, it is not only the seas that have become polluted, but also rivers and lakes.

A) I
 B) II
 C) III
 D) IV
 E) V
97. (I) What is coal? (II) How did it get into the ground? (III) Coal mining has always been tough and dangerous. (IV) Coal is the remains of plants that died millions of years ago. (V) Prehistoric dead plants were converted into coal by chemical changes over long periods of time.

A) I
 B) II
 C) III
 D) IV
 E) V
98. (I) No one really knows how we learn to speak.  (II) Some people have disorders that affect their speech. (III) Some think that we are born with an  inherited ability to learn a language. (IV) Others think that a child learns to speak simply by copying what it hears. (V) But one thing is certain: children are born with a strong desire to communicate with the people around them.

A) I
 B) II
 C) III
 D) IV
 E) V
99. (I) People say it is easier to learn a foreign language when one is young. (II) After all, we all learn a language in our infancy without even being aware of it. (III) With this in mind, a lot of kindergartens try to introduce the children to a foreign language. (IV) One should not forget that some people learn a foreign language easily while others don.t. (V) In theory this is an excellent plan, but the results have not been as successful as one might have hoped.

A) I
 B) II
 C) III
 D) IV
 E) V
100. (I) The Dutch painter, Vermeer, was born in Delft  in 1632. (II) The contrast here between the trivial subject and the monumental design is disturbing. (III) Most of his pictures show the interiors of ordinary houses. (IV) The figures are usually eating or letter writing or music making. (V) The ordinary scenes, however, are transformed by his brilliant use of light.

A) I
 B) II
 C) III
 D) IV
 E) V
2002

93. (I) California is famous for crazy ideas. (II) Indeed,  Californians value crazy ideas, and their inventive spirit has done much to change the world. (III) Television, the laser, and human insulin were all ideas developed in California. (IV) Sometimes one is surprised at what succeeds and indeed becomes popular. (V) And, indeed, so was the seedless watermelon.

A) I
 B) II
 C) III
 D) IV
 E) V
94. (I) This book gives a history of man.s exploration of space. (II) It starts with the first observations of the ancient Greeks. (III) And so it makes us wonder about how our life began on earth. (IV) It then moves on to the invention of the telescope in 1608 and the new knowledge it made available. (V) It ends with the wonder of 15 January 1996 when the Hubble Space Telescope revealed many new. galaxies.

A) I
 B) II
 C) III
 D) IV
 E) V
95. (I) Robot toys, which have to be treated like living  things, not like machines, are already being produced. (II) In Japan, for instance, robot cats will very soon be on the market. (III) In fact, robotics is the science mainly concerned with the design and construction of robots. (IV) These cats are very affectionate and they purr with pleasure when they are petted. (V) If they feel neglected, however, they let their owner know they are displeased.

A) I
 B) II
 C) III
 D) IV
 E) V
96. (I) Be sure to go to the new exhibition at the Naval Museum. (II) Personally, I.ve never been very interested in the sea and ships. (III) The exhibits range from primitive rafts to a submarine from World War II. (IV) There are lots of paintings of boats and ships, many of which are very old. (V) There are also beautifully made models of some of the most famous historic ships.

A) I
 B) II
 C) III
 D) IV
 E) V
97. (I) Louisa May Alcott wrote Little Women at the  request of her publisher, Mr Niles. (II) Niles  himself was not impressed by the story she wrote. (III) However, his niece and some other  young girls were. (IV) So, with some doubt in his mind, he decided to publish it, and it was an immediate best seller. (V) However, Little Women is a children.s book about real life; it is not a fairy tale.

A) I
 B) II
 C) III
 D) IV
 E) V
98. (I) The problem with electric guitars is that, from  the point of view of sound, they cannot be improved. (II) At schools children should be encouraged to play the guitar. (III) They can be  decorated and made to look better. (IV) They can  be made lighter and easier to play. (V) But they cannot be made to sound any better.

A) I
 B) II
 C) III
 D) IV
 E) V
99. (I) Kiev is one of the most historic cities of the  Ukraine. (II) It is both a busy river port and a  major railway junction. (III) Despite its rapid  growth during the 19th century, it still reveals  many signs of its long and rich history. (IV) The  old citadel still stands in the medieval centre of the city. (V) Nearby is also a famous cathedral that dates back to the Middle Ages.

A) I
 B) II
 C) III
 D) IV
 E) V
100. (I) Originally, the Japanese learned how to paint  from the Chinese. (II) However, over the  centuries, Japanese painting soon developed characteristics of its own to suit its own environment and traditions. (III) Symbolism rather  than realism became the most striking feature of this painting. (IV) Japanese and Chinese painters alike often choose to work in black and white only. (V) The typical Japanese representation of nature, for instance, was symbolic rather than

realistic.

A) I
 B) II
 C) III
 D) IV
 E) V
2003

96. (I) The cheetah is the fastest moving of all the land animals. (II) The cheetah usually prefers to hunt alone, but the males sometimes hunt in  packs. (III) It is capable of reaching a speed of 70 kilometres an hour in just 2 seconds. (IV) When in pursuit of prey it can travel at a speed of 100-127 kilometres an hour. (V) Moreover, it can keep up this speed for between 200 and 600 metres. 

A) I
 B) II
 C) III
 D) IV
 E) V
97. (I) It is now nearly 40 years since President John F. Kennedy was assassinated in Dallas, Texas. (II) Yet the events of that fateful day remain the  subject of much controversy. (III) Was the suspect, Lee Harvey Oswald, a lone assassin? (IV) Actually, Dallas is the most fascinating city of Texas. (V) Or was the murder the result of a major conspiracy?

A) I
 B) II
 C) III
 D) IV
 E) V
98. (I) Sir Walter Raleigh was an outstanding example of the versatile Renaissance man. (II) Though he  was a famous seaman, his real importance lies in other accomplishments. (III) As the Renaissance developed in Italy and other European countries, it began to take on added dimensions. (IV) He was a poet, a musician, a scientist, a historian, an explorer and even a pirate. (V) He also took an active part in the colonization of America. 
A) I
 B) II
 C) III
 D) IV
 E) V
99. (I) Large quantities of ice have been found on Mars. (II) This raises the prospect of a manned expedition to the Red Planet. (III) So far, manned expeditions to Mars have been prevented by the difficulty in carrying enough water to support a crew. (IV) But if melted, the ice on Mars may provide not just water but also oxygen, electricity and hydrogen for rocket fuel cells as well. (V) In fact, the surface of Mars is marked by what  appears to be dried-up shorelines, canyons and

lakes.

A) I
 B) II
 C) III
 D) IV
 E) V 
100. (I) For the first time a parachute has saved a light  aircraft from disaster. (II) The incident concerned a Cirrus SR 22 aircraft. (III) When one part of a wing fell off, the pilot released the single-prop plane.s novel built-in rescue parachute. (IV) However, the plane landed in a clump of trees near Houston. (V) With its aid he was able to achieve an injury-free crash landing.

A) I
 B) II
 C) III
 D) IV
 E) V
2004

96. (I) Modern Trabzon is built on a mountainside. (II) It  is a bright, busy town with cafés and bookshops and restaurants. (III) Most visitors, however, go there in order to see the dramatic Byzantine monastery at Sumela. (IV) Trabzon is the largest port along Eastern Turkey.s Black Sea coast. (V) This has been carved out of a steep rock cliff and is well-worth a visit.

A) I
 B) II
 C) III
 D) IV
 E) V
97. (I) At this time the writer was living in a tiny flat in Edinburgh with her baby daughter. (II) The latest Harry Potter book has had an unexpected effect on young fans. (III) Some paediatricians have reported an outbreak of headaches among children reading Harry Potter and the Order of the Phoenix. (IV) They attributed this problem to the 8-hour reading sessions the young enthusiasts put in as they worked their way through the 870-page volume. (V) Fortunately, the problem clears up of its own accord a day or two

after the reader finishes the book.

A) I
 B) II
 C) III
 D) IV
 E) V
98. (I) Contemporary rock and pop music has come  about due to vast advances in technology. (II) In this respect the impact of the microphone should not be underestimated. (III) Further, certain environmental forces may influence how they sing. (IV) It has enabled quiet, intimate sounds to be magnified. (V) In turn, this has allowed the singer to experiment with the emphasis on mood rather than strict adherence to proper breathing.

A) I
 B) II
 C) III
 D) IV
 E) V
99. (I) Cameroon has begun to make one of its deadly  lakes safe at last. (II) With the increase in oil, timber and coffee exports, Cameroon.s economy has improved remarkably over recent years. (III) Engineers have started installing pipes to  remove carbon dioxide building up in the depths of Lake Monoun, which could erupt at any time and suffocate people nearby. (IV) The pipes will begin pumping out the gas by the end of the year. (V) This should make Lake Monoun safe within a year and a half.

A) I
 B) II
 C) III
 D) IV
 E) V
100. (I) Jean Piaget is the psychologist whose work has had the greatest influence on the study of child development. (II) Among the first to accept Piaget’s theories were educators, who began to develop school curricula based on his ideas. (III) During the 1940s and 1950s American child psychology turned toward environmental and conditioning methods. (IV) He.s different from any other psychologist in that his theoretical views are still widely accepted in some form by many of today.s developmental psychologists. (V) Further Piaget.s many books on child psychology remain the greatest contribution to the field by a single scholar. 

A) I
 B) II
 C) III
 D) IV
 E) V
2005
96. (I) Yeats was not simply a writer. (II) He was involved in many different kinds of activity. (III) In particular he worked to help Ireland get its independence. (IV) Indeed, Maud Gonne, a very beautiful woman, was to influence him greatly. (V) And all the various things he did and all his experience are brought together and unified in his art.

A) I
 B) II
 C) III
 D) IV
 E) V
97. (I) The horse’s eye is a remarkable organ. (II) It is at least twice as large as the human eye. (III) It also has a special property which enables it to see much better than its rider. (IV) This is true, both when the light is poor and when there is full daylight. (V) As many horse owners have observed, some horses are much more excitable than others.

A) I
 B) II
 C) III
 D) IV
 E) V
98. (I) It is well worth visiting this bird sanctuary to see the swans feed. (II) When we went there the weather was gorgeous. (III) Visit at 8.30 am and be there as the swans come out for breakfast. (IV) Or arrive around 6.30 pm as they gather for their dinner. (V) Either way you’ll enjoy watching the way they fight over their food.

A) I
 B) II
 C) III
 D) IV
 E) V
99. (I) The Industrial Revolution means the sudden acceleration of technical and economic development that began in Britain. (II) Birmingham is an industrial city and the administrative headquarters of central England. (III) It is a major manufacturing, engineering, commercial and service centre. (IV) The city’s concert halls, theatres and three universities also make it an important cultural and educational centre. (V) Its main products are cars, machine tools and electrical equipment.

A) I
 B) II
 C) III
 D) IV
 E) V
100. (I) Try to imagine what would happen to the bones of astronauts going to Mars. (II) They would probably come back hardly able to walk at all. (III) This is because, on Earth, bones are renewed by walking. (IV) But on Mars this does not happen. (V) This  new device simulates the low-intensity interactions between bone and muscle.

A) I
 B) II
 C) III
 D) IV
 E) V
2006

96. (I) Britain’s largest robotics laboratory will open in the autumn. (II) On the contrary, this one is to be well-funded. (III) Two universities are jointly in charge of the project. (IV) There will be 50 researchers there aiming to develop intelligent, independent robots. (V) These, it is hoped, will work in a variety of areas ranging from social care to industrial cleaning. 
A) I
 B) II
 C) III
 D) IV
 E) V
97. (I) The eruption of Vesuvius in 79 A.D. remains one of the most famous events in history. (II) At the time, Pompeii, about 9 km south of the volcano, was a busy town with a population of 20,000. (III) But Vesuvius suddenly released clouds of ash and lava which swept through the town. (IV) Even so, volcanoes remain fairly unpredictable. (V) Pompeii was destroyed and its inhabitants killed. 

A) I
 B) II
 C) III
 D) IV
 E) V
98. (I) A preference for the mother’s voice or the mother’s odour emerges very early in life. (II) Might a preference for the mother’s face also be present very early? (III) Several recent studies suggest that the answer is yes. (IV) Babies as young as 2 days old have been shown to look more at their mother’s face than at the face of a stranger. (V) There are, then, clear changes in how infants respond to faces during the first year or so of life.

A) I
 B) II
 C) III
 D) IV
 E) V
99. (I) Much of the Earth’s surface is covered with snow and ice. (II) So many creatures have had to adapt to life in a white world. (III) In fact, animals of the desert have light colours to help them blend into their pale environment. (IV) One of the most obvious adaptations is having white fur like the polar bear. (V) Both the hunter and the hunted require such camouflage if they are to survive.

A) I
 B) II
 C) III
 D) IV
 E) V
100. (I) The idea of military robots is certainly an attractive one. (II) They have no need either of food or rest. (III) They don’t complain and they don’t get scared. (IV) But war on the ground is more complex than war in the air. (V) This means they can be given the dirtiest and most difficult tasks to do.

A) I
 B) II
 C) III
 D) IV
 E) V
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